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1. The difference between two numbers is 10 and one-fifth of their sum is equal to 8. Find the 
smaller number.  
(a) 28   (b) 45   (c) 35    (d) 15 
 
2. An article is sold at a profit of 20%. If the cost price is increased by 10% and the sale price by 
Rs.26, then the percentage of profit reduces by 5%. Determine the cost price. 
Rs.300   (b) Rs.400  (c) Rs.500   (d) Rs.600 
 
3. Two pipes A and B can fill a tank in 20 and 30 hours respectively, both the pipes are opened to fill 
the tank but when the tank is one-third full, a leak develops in the tank through which one-third 
water supplied by both the pipes goes out. The total time taken to fill the tank is: 
(a) 12 hours  (b) 14 hours   (c) 16 hours  (d) 18 hours 
 
4. 8 men can complete a piece of work in 20 days. 8 women can complete the same work in 32 days. 
In how many days will 5 men and 8 women together complete the same work? 
(a) 10 days  (b) 12 days   (c) 14 days  (d) 16 days 
 
5. A train travels a distance of 600 km at a constant speed. If the speed of the train is increased by 
5 km/hr,the journey would take 4 hours less. Find the speed of the train. 
(a) 25 km/hr  (b) 50km/hr  (c) 100 km/hr  (d) None of these 
 
6. How many litres of water should be added to a 30 litre mixture of milk and water containing 
milk and water in the ratio of 7:3 such that the resultant mixture has 40% water in it? 
(a) 5   (b) 2   (c) 3   (d) 8 
 
7. The compound interest on a certain sum of money for 2 years at 10% per annum is Rs.525. The 
simple interest on the same sum of money for double the time at half the rate percent per annum is: 
(a) Rs.1000  (b) Rs.500  (c) Rs.200  (d) Rs.800 
 
8. The cost of fencing a square field @Rs.20 per metre is Rs.10080. How much will it cost to lay a 
three metre wide pavement along the fencing inside the field @ Rs.50 per sq.metre? 
(a) Rs.37350  (b) Rs.73800  (c) Rs.77400   (d) None of these 
 
9. The cost of painting the whole surface area of a cube at the rate of 13 paise per sq.cm is Rs. 

343.98. Then the volume of the cube is: 
(a) 8500 cm3  (b) 9000 cm3  (c) 9250 cm3  (d) 9261 cm3   
 
10. If a 30 m ladder is placed against a 15 m wall such that it just reaches the top of the wall, then 
the elevation of the ladder with the wall is equal to: 
(a) 45o   (b) 30o   (c) 60o   (d) 50o 
 
11. Select the option that is nearest in meaning to the underline word: 
The committee should recommend his name to the government. 
(a) raise   (b) advise  (c) counsel  (d) suggest 
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12. Re-arrange the jumbled parts of the sentence and mark your response accordingly: 
Mr. Jain/ (P) who was hardly nine months old/ (Q) Sunil/ (R) as his son/ (S) adopted 
The correct sequence should be 
(a) S Q R P  (b) P S Q R  (c) R S P Q  (d) P R S Q 
 
13. Select the word or group of words you consider most appropriate for the blank space: 
The whole lot of young men was very enthusiastic but your friend alone was ___________. 
(a) quarrelsome  (b) complaining   (c) a wet blanket  (d) sleepy 
 
14. Select the option that is opposite in meaning to the underlined word/words: 
Ramesh is vulnerable to political pressure. 
(a) weak   (b) unguarded  (c) exposed  (d) resilient 
 
15. Find out whether there is any error in any part of the sentence: 
(a) The party/ (b) was ousted in power/ (c) after ten years. /(d) No error 
 
16. Choose the response which is most appropriate expression of the idiom/phrase: 
Best of both worlds 
(a) A happy person who is the best with all 
(b) All the advantages 
(c) To take on a task that is way too big 
(d) Someone whom everybody likes 
 
17. Choose the option that identifies the underlined word in the sentence. 
We should be loyal to our country. 
(a) Determiner  (b) Article  (c) Preposition  (d) Modal 
 
18.Complete the idiom in the following sentence. 
My grandfather was as pale as a _________ when he entered the hospital. 
(a) Pony  (b) ghost  (c) baby   (d) pea 
 
19. Choose the answer that best completes the comparison. 
Recant : Retract :: Restrain : _______ 
(a) Foretell  (b) curb   (c) entertain  (d) rescent 
 
20. Choose the option which best expresses the given sentence in Indirect speech. 
He said to her, "What a cold day!" 
(a) He exclaimed sorrowfully that it was a cold day. 
(b) He exclaimed that it is a cold day. 
(c) He exclaimed that it was a very cold day. 
(d) He told her that it was a cold day. 
 

21. ਦਿਵਾਲੀ ਵਾਲੇ ਦਿਨ ਲੋਕਾਂ ਨੇ ਆਪਣੇ ਘਰਾਂ ਿੀ ਸਾਫ-ਸਫਾਈ ਕਰਕੇ ਿੀਪਮਾਲਾ ਕੀਤੀ। ਵਾਕ ਦਵਚ ਖਾਸ ਨਾਂਵ ਹੈ: 
(a) ਦਿਵਾਲੀ  (b) ਦਿਨ   (c) ਲੋਕ   (d) ਸਫਾਈ  
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22. ਦਿਹੜਾ ਵੀ ਕਈੋ ਪੰਿਾਬੀਆ ਂਿੀ ਅਣਖ ਨ ੰ  ਵੰਗਾਰੇਗਾ, ਉਸਨ ੰ  ਢੁਕਵਾਂ ਿਵਾਬ ਦਮਲੇਗਾ। ਵਾਕ ਦਵਚ ਸੰਬੰਧਵਾਚਕ 
ਪੜਨਾਂਵ ਹੈ:  
(a) ਦਿਹੜਾ ਵੀ ਕੋਈ (b) ਿੀ   (c) ਨ ੰ    (d) ਿਵਾਨ  

 

23. ਹਰਿੀਤ ਨੇ ਬੜੇ ਹੀ ਦਿਿੜ ਇਰਾਿੇ ਨਾਲ ਇਸ ਮੁਕਾਬਲੇ ਦਵਚ ਦਹਿੱ ਸਾ ਦਲਆ। ਵਾਕ ਦਵਚ ਦਕਦਰਆ ਹੈ:  
(a) ਦਿਿੜ   (b) ਮੁਕਾਬਲੇ  (c) ਦਹਿੱ ਸਾ ਦਲਆ  (d) ਦਲਆ  

 

24. ਪੁਦਲਸ ਿਾ ਨਾਕਾ ਲਿੱ ਦਗਆ ਵਖੇ ਕੇ ਉਸ ਨੇ ਆਪਣੀ ਕਾਰ ਹੌਲੀ ਕਰ ਲਈ। ਵਾਕ ਦਵਚ ‘ਹੌਲੀ’ ਸ਼ਬਿ ਿੀ ਦਵਆਕਰਣਕ 
ਪਛਾਣ ਕਰੋ:  
(a) ਸਧਾਰਨ ਦਕਦਰਆ ਦਵਸ਼ੇਸ਼ਣ   (b) ਸੰਿੁਗਤ ਦਕਦਰਆ ਦਵਸ਼ੇਸ਼ਣ  

(c) ਦਮਸ਼ਦਰਤ ਦਕਦਰਆ ਦਵਸ਼ੇਸ਼ਣ   (d) ਦਵਸ਼ੇਸ਼ਣ 

 

25. ਲਾਲ ਕਾਰ ਦਵਚ ਸ਼ਾਂਤ ਬੈਠਾ ਆਿਮੀ ਹਰੇਕ ਮੰਗਲਵਾਰ ਦਮਿੱ ਠੇ, ਪੀਲੇ ਲਿੱ ਡ  ਅਨਾਥ ਬਿੱ ਦਚਆ ਨ ੰ  ਵੰਡਿਾ ਹੈ। ਵਾਕ ਦਵਚ 
ਅਦਵਕਾਰੀ ਦਵਸ਼ੇਸ਼ਣ ਹ:ੈ  
(a) ਦਮਿੱ ਠੇ   (b) ਪੀਲੇ   (c) ਹਰੇਕ  (d) ਲਾਲ 

 

26. ਹੇਠ ਦਲਖੇ ਸ਼ਬਿ ਸ਼ਮ ਹਾਂ ਦਵਚੋਂ ਦਕਹੜਾ ਸ਼ਬਿ-ਿੋੜਾਂ ਪਿੱ ਖੋਂ ਸਹੀ ਹੈ: 
(a) ਨੋਕੀਲਾ, ਦਨਿੱਚੜਿਾ, ਦਨਘਾਰ   (b) ਨੁਕੀਲਾ, ਨੁਿੱ ਚੜਿਾ, ਦਨਘਾਰ  

(c) ਨੁਕੀਲਾ, ਦਨਿੱਚੜਿਾ, ਦਨਘਹਾਰ   (d) ਨੋਕੀਲਾ, ਨੁਿੱ ਚੜਿਾ, ਦਨਘਹਾਰ 

 

27. ਉਸਿਾ ਦਲਦਖਆ ਖ਼ਤ ਮੈ ਪੜਹ ਹੀ ਦਰਹਾ ਸੀ ਦਕ ਉਹ ਖ਼ਿੁ ਮਰੇੇ ਕੋਲ ਪਹੰੁਚ ਦਗਆ। ਵਾਕ ਦਵਚ ਭ ਤ ਦਕਰਿੰਤ ਿੀ ਪਛਾਣ 
ਕਰੋ:  
(a) ਉਸਿਾ  (b) ਦਲਦਖਆ  (c) ਪਹੰੁਚ  (d) ਹੀ 
 

28.‘ਢਾਹ ਲਿੱ ਗਣੀ’ ਮੁਹਾਵਰੇ ਿਾ ਅਰਥ ਹੈ:  
(a) ਕੁਸ਼ਤੀ ਦਵਚ ਦਚਿੱਤ ਕਰਨਾ   (b) ਬਿਿਆੁ ਲਿੱ ਗਣੀ  

(c) ਡਰ ਲਿੱ ਗਣਾ     (d) ਹੌਲੀ ਹੌਲੀ ਤਬਾਹ ਹਣੋਾ 
 

29. ਹੇਠ ਦਲਦਖਆਂ ਵਾਕਾਂ ਦਵਚੋਂ ਸ਼ੁਿੱ ਧ ਵਾਕ ਚਣੁੋ:  
(a) ਮੰਡ ੇਨੇ ਆਪਣੇ ਪੈਰਾਂ ਿੇ ਅੰਗ ਠੇ ਨ ੰ  ਫਦੜਆ।  (b) ਮੁੰ ਡੇ ਨੇ ਆਪਣ ੇਪੈਰ ਿ ੇਅੰਗ ਦਠਆਂ ਨ ੰ  ਫਦੜਆ।  

(c) ਮੁੰ ਡ ੇਨੇ ਆਪਦਣਆਂ ਪੈਰਾਂ ਿੇ ਅੰਗ ਦਠਆਂ ਨ ੰ  ਫਦੜਆਂ। (d) ਮੁੰ ਡੇ ਨੇ ਆਪਦਣਆ ਂਪੈਰਾਂ ਦਿਆਂ ਅੰਗ ਦਠਆਂ ਨ ੰ  ਫਦੜਆ। 
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30. ‘ਇਹ ਕਲੁਫੀ ਕੌਣ ਖਾਵੇਗਾ?’ ਵਾਕ ਹੈ: 
(a) ਪਿਸ਼ਨ ਵਾਚਕ।   (b) ਆਦਗਆ ਵਾਚਕ। (c) ਦਵਸਮੈ-ਵਾਚਕ।  (d) ਨਾਂਹ ਵਾਚਕ। 
 
31. Stubble burning results in emission of harmful gases such as : 
(a) carbon dioxide    (b) carbon monoxide   
(c) ozone     (d) nitrous monoxide 
 
32. Which of the following place of Punjab is connected through Kartarpur Corridor? 
(a) Hoshiarpur  (b) Gurdaspur  (c) Amritsar  (d) Nawanshahr 
 
33. Who became the first Indian women cricketer to play 100 Twenty 20 Internationals? 
(a) Harmanpreet Kaur  (b) Mithali Raj  (c) Deepti Sharma  (d) Mamatha Maben 
 
34. World Health Organization has recently declared Global Health Emergency for which type of 
virus? 
(a) corona virus  (b) swine flu  (c) HINI   (d) AIDS 
 
35. Who compiled the recently launched book “Nanak Bani” ? 
(a) Bhai Jodh Singh (b) Manjit Singh  (c) Jagtarjit Singh (d) Kartar Singh 
 
36. The area towards South to river Sutlej in Punjab is: 
(a) Malwa  (b) Majha  (c) Doaba  (d) Poadh 
 
37. Which of the following wildlife is situated at the confluence of Beas and Sutlej rivers bordering 
Tarn Taran, Kapurthala and Ferozepur districts ? 
(a) Bir Bhadson     (b) Abohar wildlife sanctuary  
(c) Harike-ke-Pattan    (d) Bir Gopalpura 
 
38. Which of the following crops is produced in almost every district of Punjab ? 
(a) Cotton  (b) Sugarcane  (c) Wheat  (d) Maize 
 
39. In Punjab Vidhan Sabha, the maximum number of ministers can be: 
(a) 16   (b) 18   (c) 20   (d) 22 
 
40. Who has been appointed as the 47th Chief Justice of India ? 
(a) Justice NV Ramana    (b) Justice SA Bobde 
(c) Justice AK Mishra    (d) Justice RF Nariman 
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ANSWER KEYS 

 
 

 

Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans 

1. D 9. D 17. C 25. D 33. A 

2. B 10. B 18. B 26. B 34. A 

3. C 11. D 19. B 27. B 35. B 

4. D 12. A 20. C 28. D 36. A 

5. A 13. C 21. A 29. D 37. C 

6. A 14. D 22. A 30. A 38. C 

7. B 15. B 23. D 31. B 39. B 

8. B 16. B 24. A 32. B 40. C 
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